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Section A {30 x Z marks = 60 marks)
For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4) on
the Optical Answer Sheet provided.

1. Jonas put'some male hamsters in a container with wire gauze covering
the top. He only gave the hamsters enough water each day for a perod
of 3 weeks. At the end of each week, he counted the number of
hamsters and plotted his resuit.

wire gauze

Which one of the following shows the graph that he had cormectly
plotted based on his experiment?
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Which of the following statemenis correctly describe the similarities
between plants and animais?

A They can reproduce.

B They respond to changes.
C They look after their young.
D

They need air, food, water and sunlight.

(1) A and B only {2) BandC only
(3} A, C and D only {4) B, C and D only

Lucy made the following statements about bacteria and fungi.

A Ali bacteria are harmful.and céuse diseases.

B Bacteria and fungi are knowﬁ as decomposers.

C Fungi needs air, warmth and water in order to-live.’

D Fungi and bacteria can only be seen under a microscope.

Which of the statements above are incortrect?

(1) Aand B only (2) AandD only
(3) BandConly (4) A, Cand D only
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4. The diagrams below show a Bird's nest fern and a Bracket fungus.

fern

-Which of the following statements about the two organisms are
correct?

A Both organisms can grow on trees. .

B Both organisms can show growth movements.

C Both ‘organisms nesd sun!igﬁt in order to survive.
D

Both organisms depend on the host tree for food.

(1) AandBonly (2) AandD only
(3) B and C only 4) C and D only




5. Study the classification chart below. A and B represents suitable headings for
the flow chart.

non-flowering plants

A B

pine free bird’s nestfern

Which one of the following headings best represents A and B?

A B

(1) | reproduces by spores | reproduces by seeds

{(2) reproduces by seeds reproduces by spores

3) lives on land lives only on trees
4) fives ohly on trees lives on land
6. Four plants, A, B, C and D, are observed for the characteristics as shown in

the table below. A tick { ~") shows that the plant has the characteristic.

A B C D
Grows on land - -~
Bears fruit % —

Which one of the foliowing statements about planis A, B, C and D iscoriect?

(1)  Grass is an example of plant B.

(2)  Plants A and C are aquatic plants

(3)  Water Lily is an example of plant A.
- (4 Plants A and B reproduce by se&ds,
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7. A dolphin was being fransported from one water theme park to another. The
dolphin was placed on a stretcher and water was poured on the dolphin from
time to time.

T stretcher

dolphin

Which of the joliowing statements best explained why the dolphin was stiil
alive when it reached the new water theme park?

(1) The dolphin couid breathe using its {ungs.

(2) The water poured on the dolphin gave it oxygen.

(3)  The dolphin had stored enough oxygen in its body to last threughout
the journey. ‘

(4} Dolphins can take in both dissolved oxygen in water and oxygen from
the surrounding.

8. The diagrams befow show 4 organisms, A, B, CandD.

Based only on what you can see from the diagrams above, which one of the
following statements is correct?

)] Ali of them have a pair of wings.

(2) Al of them have a pair of feelers.
{(3)  Oniy organism B has two body parts.

(4) Their bodies are covered with a shell.




8.

10.

Study the flow chart below.

Animals
lion emu prawn
goat sparrow crab
platypus penguin snail

How have the animals ahove been classified?

(1

(2}  According to the way they move.

{3)  According to their body coverings.

{4) According to the number of legs they have.

Which one of the following animals can move differently from its
young?

(1) turile

(2} lizard

(3) butterily

{4}  water buffalo

According to their diet.
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11. Study the classification chart below carefully.

-Malterials
| | l
from fiving things from non-living things
: l -Fubber
P _ L |
from plants " from animals plastic
glass " wool

paper leather

Which of the above materials have been wrongly classified?

(1) paper and wao: -
{2) glass and plastic
(3) wool and leather
{4y glass and rubber

12.  The diagrams below show different types of leaves.

Which one of the following statements about the leaves above is correct?

{1)  The leaves have similar vein patterns and edges.

{2)  The leaves have similar vein patterns and shapes:

(3) The leaves have different vein patierns but similar edges.
-{(4) . The leaves have different vein patterns but similar shapes. -




13.

14.

Plants lose water 1o their surrounding through their leaves. In deserts, the

leaves are smaliler in size.

Which one of the following best explains why the leaves of desert plants are

smaller ia size?

(1)  To absorb more moisture from the surroundings.

(2  To prevent the leaves from overheating and burning.

(3) To reduce the amount of water lost to its surroundings. _
{4) To prevent animals which are seeking shelter from déstroying the

plant

Four similar plants hiad different parts of it removed as shown in the table

below.
Plant Parts remoeved
A flowers
B buds
C fruits
D roots

Which one of the following plants is most fikely to dry up first?

() Plant A -
(3) Ptant C

2
)

Plant B
Plant D
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15. Study the diagrams of the plants below.

Which one of the following piants will be most difficult to uproot from the
soit than the others?

16. Study the diagrams of the iwo plants below.

tree tiunk =~ 7 ™~ stem of
of plant X plant B

Which one of the following statements is true of plants A and B above?

U
@)
(3)

@

Plant A and B cannot make their own food.
The stems of plants A and B allow the plants to stand upright.
Both plants A and B feed on the tree trunk and wooden fence.

Plant A climb up the tree while plant 8 climb up the fence to-get
sunhight.

10
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18.

Dan was given four types of materials, W, X, Y and Z to make a tent for
his camping trip. He tested the materials and used a checkiist as shown
below to record the results. A tick () indicates that the material had
that property.

w X R A Z
itis light. v + A
It is - waterproof. v N J
itiears easily. . N
it is datk.coloured. N : 7 37

Which two materials had the necessary properties for making a suitable
tent?

{1} W and X only (2)
(3) Xand Y only (4)

Wand Y only
Xand Z only

Aslina had four strings, A, B, C and D, of the SaEie 1engfh and
thickness but made of different materials. She. tesled-the. stréhgth of
the strings by adding 10 g weights on each stiing: un’ﬂhtbr@“ke-

[ o

string

CCO—weight

The table below shows the maximum number of weights each string
could hold before it broke.

String T A~ T B C D
Number of 10 g :
weights added 20 10 2 7

Which one of the following conclusions could be drawn from the
results?

(1)  String C was stronger than String A.

{2) Strings B and D had the same strength.

(3)  String C could be used to lift up 50 g of sait.
(4)  String A had twice the strength of string B.

11
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19.  Which one of the foilowing objects does not contain a magnet {o carry
out its function?

compass credit card

3 “)

refrigerator stapler

12




20.

Study the classification chart below carefully. The chart shows the
propetties of some materials, P, Q, R, Sand T.

Properties of Materials
|

waterproof non-waterproof
f l
I _ | |
does not allow allows some light flexible not flexible
any light to pass to pass through '
through S T
R | ]
can be cannot be
scratched easily scratched easily
- _ Q

21.

Based on the classification chart, which of the following materials. are
most suitable for making the lenses of sunglasses and a bath towel
respectively?

Sunglasses | Bath towel
(1) P S
@ a 5
&) Q T
(4) R T

Which one of the following methods will not cause a maghef to lose its
magnetism?

€] Dropping it several times (2) Heating it over a flame
(3) Hammering it several times (4)  Putiing it inside water
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22. Felix was given 3 objects, A, B and C, which were wrapped with a black
paper. He was told that the objects were a magnet, 2 magnetic object
and a non-magnetic object.

He then hung the objects from the ceiling using strings and placed
themn in different positions. The diagrams below show what happened
when the objecis were put together.

string/\ l / /

AlCi B Al B ¢ B

ceiling

1% position 2™ paosition 3" position

Object C was removed. Object A was removed.

Based on the observation above, which one of tﬁe foilowing isa

possible conclusion? :
Magnet Magnetic Object | Non-magnetic Object
EF
) o) A B C
@
(y A C B
(35 [~
B C A
4 |
, C A B
(4

23.  Which one of the following statements is not true about magnets?

(1) The Earth itself is a magnet.

(2) The needle in a compass is a magnet.

{(3) Natural magnets are also called lodestones. -

(4) A freely suspended magnet will always rest in a north-east
-- . clirecfion. .

14




24. Ali cut a bar magnet into 3 pieces, A, B and C.

25.

P N L k]

Which one of the following statemenis described what happened to

paits A, B and C?

(1)
2)

()
(4)

A, B and C lost their magnetism completely.
B remained as amagnet while Aand C iost their magnetism

completely.

A, B and C remained as magnets and had their own north and

south pcles.

A became the north pole and C became the seuth pole while B
fost its magnetism completely.

A bar magnet was labelled as four equal parts, A, B, C-and B. it was
then lowered onto a table of thumbtacks. Four pupils predicted the
number of thumbtacks that would be attracted fo each part of the
magnet.

string

C . D
4 :&—- magnet
. l d .:-:‘ ’ .

thumbtacks

Whlch one of the following pupils had made a possxble prediction
based on the properties of magnets?

()
@
@)
@

Pupils A B C D
Abel 6 7 9 10
Bamry 8 3 2 8
Carol 9 7 9 6
Danny 10 8 7 5
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26. Ziyiset up an experiment as shown below. The magnetic force from the
magnet caused the thumbtack to float in the air.

g ' magnet
‘ plastic sheet
retort __| or = ‘ '
stand _ s~ thumbtack

string

Ziyi then placed a plastic sheet between the magnet and thumbtack.

Which ene of the following is the correct observation that she will make
and its explanation?

(1) The thumbtack will-float as the plastic sheet can be magnetised.

{2) The thumbtack will drop as the plastic sheet cannotbe -
magnetised. )

(3) The thumbtack will float as magnetism can pass through the

plastic sheet.
{4y The thumbtack will drop as magnetism cannot pass through the

plastic sheet.
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27. The diagram below shows the attraction between three bar magnets
when they are placed closed to one ancther. The poles of each
magnet are represented by X, Y, P, Q, Jand K.

X vy | P

Which one of the following arrangements is a possibie arrangement of
the magnets when placed fogether?

1 2
M 3 @ [p
P Q
a |9 K
3 4
(3} b ] Y (4)
Q p X il K
Q {K [X
Y
17 /43




28.

Lily conducted an experiment as shown below to tumn some paper clips
into temporary magnets.

magnet

paper clips

Lily tried to add another paper clip to paper clips Band D but no paper clip
could be added on.

Which one of the following statements is true of the experiment above?
(1)  Poini X is a north-seeking pole.
(2) Paper clip D is not a magnetic material.

(3)  Paper clip A and C are of equal strength.
(4) Paper clip B is a weaker magnet than paper clip C.

18




29. Zheng Ye wanted to make an iron bar into a temporary magnet using the
“stroke” method. The tron bar had two labelled parts, A and B. He started
stroking the iron bar from A fo B with the south pole of a bar magnet and
continued sfroking in the same direction for twenty times as shown helow.

iron bar————z_ A ‘ S 5

After the iron bar has been magnetised, which poles do A and B represent?

A : B

4] North-pole NGW!e
2) Notth-pole South-pole
(3) South-pole” . South-pole
4 South-pole North-pole

19
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30. Liz set up an experiment as shown-below on a table.

O/stee{ bail

wooden —

glass plank
block

_—table

Liz rolled the steel ball down from point P, along the glass plank.
Which one of the following observanons would Liz make?
(1)  The steel ball would not move and stay at point P.

(2)  The steel ball would roll to point Q and stop there.
(3) The steel ball would roli {o point R and stop there.

(4)  The steei ball will roll down from point P to S without stopping.

20
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Section B {40 marks) ) _
Write your answers to questions 31 to 44 in the spaces provided.
Marks will be deducted for misspeit key words.

31. Classify the four leaves below into two groups and give a suitable
heading for each group. {3 m)

A B C D

22




32. Joy conducted an experiment below. She placed both setups Aand B
near a window. She wrapped the roots of plant B with a plastic bag

before putting it into the beaker.

plant A

250 mi of red-coloured
' water

1 roots wrapped with

a plastic bag

250 mi of redcoloured -
- water
" roots

Setup A Setup B

Joy wanted to show that roots absorbed water.

(a) Describe and explain what would happen to the leaves of plant A and

B after a few davs. (2 m)
SetUp B Observation ' Explanation
A . : '
B

(b) Describe another function of roots that is not shown in this
experiment. - (tm)

23
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33.

(a)

(b)

(a)

)

Johnson placed organism X in an opened container filled only with water. He
placed it in a bright area. He then prepared anather container of water with
organism X and placed it in a dark area.

After a few weeks, he noficed that organism X had grown bigger only in the
container which was placed in the bright area.

Give a specific example of what organism X could be. {1 m)

Explain how organism X was able to grow bigger when placed in the bright
area. (1 m)

Al placed a moistened bread and a dry bread in a dark corner of his room. He
noticed that one of the breads had a greemsh—brown crganism living on it after
a few weeks.

State which bread, dry or moistened, will most fikely have tﬁe greenish brown

organism growing on it. (1m)
Explain your answer in (a). - (1 m)
4
24




35. The table below shows the characteristics of four plants, A, B, Cand D. A tick
(") indicates that the organism has that particular characteristic.

Piant. | bears flowers { grows only onland |- grows only in water
A . ~
B ~ s
C N 7
D | ~
Fill in the boxes below with suitable guestions for the flow chart. {3 m)
Plants

i

Yes No

(i), {iif)

25
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36.  During a school trip, Ali came across a Venus flytrap. The plant shut its “trap’
when an insect crawled into it. His teacher then explained that the plant would
release a liquid that would digest the trapped insect.

“trap’

(a)  What characteristic of fiving thingé did the Venus ﬁytrarp display when it
shut its trap? {1 m)

Ali said that the Venus flytrap did not need sunlight to survive. He was told
that his statement is wrong.

{b) Based on the diagram of the plant above, expiain why heidwrong. (2m)

26




37.

(a)

()

The chart below shows how some plants can be classified.

Land

Plants
A
Duckweed
Water hyacinth
B .
Ladder femn
Staghom fern

Give a suitable heading for A, Band C.

C

Lantana
Rose

Cindy classified ‘yeast’

incorrect.

(3 m)

under group C. Explain why her classification was
(1 m)

27
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38.

@

(b)

{c)

Study the flow chart below.

Animais

Does it lay

Does it have
scales?

eggs?

Does it lay

eggs?

____>A

D
Describe the characteristics of animal A. £1 m)
Give an example of animal B. (1 my
State a similar characteristic for animals C and D. (1 m)

28




39.  The diagram below shows an animal with a se
through breathing holes.

gmented body that breathes

@) Draw all the legs of the animal on the diagram above. (2 m)
(L) Name the part labelled X. {1 m)
40.  Study the flow chart below.
Animals
Yy z |
molly : penguins
platypus anis
daolphins eagles
An animal from Group Y has been wrongly classified.
(1 m)

@ Whichofthe animals in group Y hag been wrongly classified?

() How are the animals above classified?

(1 m)

29
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41.  The diagrams below show a bird and a cow.

bird cow

Compare the outer covering of the two animals.

(@) Name the outer coveripg of each animal. (1m)
Bird:
Cow:

{b) State one similar function.of both types of outer coverings. (1 m)

(c) State one difference in function between the outer covering of a bird and the
outer covering of the cow. . (1 m}

30




42.

jessie conducted an experiment to study the hardness of four different
materials, A, B, C and D. She used the shamp ends of a plastic rod, a wooden
rod, metal rod and glass rod to scratch each of these materials.

She recorded her observations in the table below. A tick (V) indicates the
presence of scratch marks observed on the materials.

L

Rod used to Presence of scratch marks on materials
scraich A - B C D
material _

Plastic \[ N N
Wood + N N
Metal +
Glass N N
Arrange the material from the least hard to the hardest. (2 m)
Least hard ' —»hardest

31 ) /4’2



43. Connie set up an experiment as shown below. She hung four bar magnets of

the same size using different lengths of strings from a wooden block.

NN NN NN N NN veoden bl

string’
A
(_{:Wa
B C
thumbtacks _mag'riet
plastic tray
J_,‘Dﬁ\ﬂex
B Based on the resulis shown b§qw, which magnet is the strongest? (1m)
(i)  Expilain your answer to part (i). 2.m)

32




44. Rajasetup the circuit below to turn an iron nail into an electromagnet.

wire

battery-

l T =>——jron nalil

Setup 1

(a) State the property of the iron nail that allows it to be turned into an

electromagnet. ' (1m)

Raja was told that he could change the number of batteries used in his circuit to
produce an electromagnet with different rnagnetics strengths. He then used the
iron nail  which had become an electromagnet to atiract some paper clips. He
repeated this step after changing the number of batteries in his circuit and
regotding the number of paper clips attracted.

de)

Thé é%?e below showed the number of paper clips which the electromagnet
aftracted.
Number of batteries used Number of paper clips attractedj
1 3
3
(b)
} 5 6

Based on the resuits above, how many paper clips would most likely be

sttracted by the electromagnet- when-3 batteries werée used in his 'c_i’r‘q‘uit?

& 'Fiil‘j?"o“'{ii“a”ﬁ‘SWéi'—_ ifithie empty boxin thie table at:ﬁif)\ié. (1 m)

33 /39



Study the bar graph below. Raja varied the number of coils around the iron
nait in-'set up 1 to test the siréngth of the electromagnet.
Number of
paper clips
attracted

2
—

12 ame e e

» Number of coils
10 20 30 around the iron nail

(¢) How did the number of coils around the iron nail affect the strength of

the electromagnet? (1 m)

The diagram bélow shows a crane lifting a car using an electromagnet.

electromagnet
car

Atter litting the car, the crane would lower it to another location.

{(d) What needs to be done to allow the etectromagnet to drop the car? (1m)

~The End~

34
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31.

Smooth/entire edge

Lobbed edge

A, D

B, C

32.a)

Set up

Observation

Explanation

1t will have red-coloured leaves,

It absorbed the water into its roots and
transported it to its leaves.

It will die.

food.

The roots could not absorb the water to make

b) The roots hold the plant firmly to the ground.

33. a) Hydrilla, water lily, money plant.
b) Organism X could make its own food by using sunlight.

34. a) Moistened.
b) It needs moisturefwater to grow.

35. i) Does it grow only in water?

it) Does it bear flowers?
iil} Does it bear flowers?

36. a) It responded to changes in the surredhdings.
b) It has leaves thus it needs sunlight to thake food.
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Answer Key


37. a) A: Aquatic plants ~ B: Reproduce by spores  C: Reproduce by seeds
b) Yeast is not a plant and does not reproduce by seeds.
38. a) Animal A lays eggs and have scales.

b) Guppy/ Molly.
¢) Animal C and D do not have scales.

39.a) (all 6 Iégs should be drawn connected to the thorax only)
b) Abdomen.

40. a) Platypus.
b) They are classified according to whether they reproduce by giving birth to their young

alive or by laying eggs.

41. a) Bird: feathers Cow: hair
b) It keeps the animal warm.
c) Feathers help the bird to fly but hair does not.

42, Least hard » hardest
C B A D

43. i) Magnet A
ii) It is able to attract the same number of paper clips as the other magnets even though

it is the furthest away from the plastic tray.

44, a) It must be a magnetic material.
b)5
¢) The greater the number of coils, the stronger the magnet will be.
d) Switch off the electric supply.
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